Skanninge BK
Allhelgonabridge 4 R6d 2022-11-06

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poang % Namn MID Klubb
1 3 198.3 59.03 Tommy Lundvall - Arne Karlsson 7044 8570  Eksjo BK
2 14 198.0 58.94  Ann-Kristin Hultgren - Henry Alfredsson 19069 17429 BK Opalen
3 12 190.4 56.68 Britt Strandqvist - Conny Strandqvist 79216 83358 Skanninge BK
4 6 185.,5 55.22  Christina Kronlund - Thomas Alander 28157 28168 PBF Uppsala
5 13 1849 55.04 Anna Hallberg - Gerd Holmedahl 80476 81756 Amals BS - Billingsfors BS
6 10 176.2  52.43 Inger Hjalmarsson - Jonas Andersson 41196 1085  Mijodlby BK - Ska&nninge BK
7 16  172.7 51.39 Carin Peterson - Erik Peterson 35655 49311 Skanninge BK
8 11 167.4  49.83 Gert-Inge Hugosson - Annika Hugosson 88521 87574 Stenungsunds BK
9 7 163.4  48.63 Ann-Charlott Kéack Karlsson - Ingegerd Lundgren 88857 6961 Eksjo BK - Vetlanda BK
10 4 163.0 48.52 Mona Gustavsson - Bodil Sjoberg 15504 31348 Skéanninge BK
11 15 162.5 48.35 Lena Nyblom - Eva-Lena Nyblom 51006 37091 KumlaBS
12 9 161.1  47.94 Karina Lindh - Bérje Magnusson 43674 17112 Hallsbergs BK
13 8 157.7 46.92 Kjell Abrahamsson - Birgitta Abrahamsson 87408 81435 Motala Bridgeallians
14 5 154.4 4595 Monica Hedskold - Roger Hedskold 92026 92027 BK Albrekts
15 2 1349 40.15 Cecilia Broomé Carlsson - Jan Carlsson 63426 63424 Kumla BS
16 1 117.6  34.99 Leif Nilsson - Eva Nilsson 63674 63673 Skara BS
1 4 D96 Bésta kontrakt 2 4432 Bésta kontrakt 3 & K2 Bésta kontrakt
Nord v E98752 4v S =420 Ost v K87 3NT O =-400 Syd v EKDKn10 3NT S =400
Ingen + E6 NS + KKn872 ov + D10
«D9 & ¢ v & NT #DKn & ¢ v & NT #D832 & ¢ v & NT
4 EKn10732 4K84 N 10109 5 7 410765 #ED N3676 4 4653 «Kn108 N8 7999
v63 vKD4 S 1010105 7 vE105 vKn9 S4676 4 v 97 v 853 S87 999
+ Kn8 ¢ 7432 033376 +E9%4 + D103 096569 49872 ¢ EK43 056 323
»K63 #Kn85 V33376 »E76 41085432 V 9 7 6 6 9 #EKKN9 #764 V56323
a5 & KKn98 4 ED974
vKn10 vD6432 v 642
+ KD1095 465 + Kn65
#E10742 »K9 #105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 2 4v N= oK 420 120 20|13 1 Pass 13.0 10| 7 15 4v N+1 ¢A 450 11.0 3.0
13 1 4v N= a4 420 120 20|15 6 Pass 13.0 10(10 5 4y N+1 &J 450 11.0 3.0
14 7 4v N= oK 420 120 20|10 2 3vS-1 SA -100 100 4.0|13 2 4vy N+1 +A 450 11.0 3.0
8 11 3v N+2 &4 200 80 60| 3 5 3«V= *Q -110 6.0 80|14 8 4vy N+1 ¢A 450 11.0 3.0
3 5 3vN= »6 140 6.0 80| 8 11 24V +1l 43 -110 6.0 80| 9 12 4v N= +K 420 50 90
16 12 44 V-2 *Q 100 40 100(14 7 2&#V+1l #Q -110 6.0 80(11 3 4vN= v5 420 50 9.0
9 4 4vy N-1 #4 -50 1.0 13.0[16 12 2¢ N-2 4A -200 20 120 1 16 4v N-1  ¢K -50 1.0 13.0
15 6 4v N-1 K -50 10 13.0| 9 4 2¢ N-3 &A -300 0.0 140 4 6 4vyN-1 ¢A -50 1.0 13.0
4 a5 Bésta kontrakt 5 & KKn43 Bésta kontrakt 6 4 E92 Bésta kontrakt
Vast v EK974 44 V D -1 200 Nord vE10 24 O =-110 Ost v EKn63 2NT S =120
Alla + E106 NS + E1097 ov ¢ E52
#EKN108 & ¢ v & NT #DKn5 & ¢ v & NT #KKn6 & ¢ v & NT
# EKn8 4KD1076432 N 106 104 5 49 4ED10875 N 7 5 7 5 6 45 « KDKn87 N6 6 8 88
v52 v 83 S 106 104 5 v 863 v KKn2 S6 5756 v52 v K1084 S 66 8 88
¢ Kn9743 ¢ K5 036396 ¢ KKn632 ¢ D4 06 86 87 ¢+ DKn1097 ¢ 84 O7 7555
#K54 «D V36396 #E1098 %42 V68687 #ED842 «109 V77555
49 462 # 10643
v DKn106 vD9754 v D97
+ D82 +85 + K63
297632 »K763 #753
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 2 4v N= *Q 620 140 00| 5 7 3¢ V-2 vA 100 13.0 10| 9 14 34 O-3 44 300 14.0 0.0
1 16 54 O-2 vQ 200 90 50| 8 15 24 O-2 ¢8 100 13.0 10(10 1 3¢ V-2 v3 200 120 20
7 15 44DO-1 vQ 200 90 50(10 1 240-1 ¢8 50 70 7.0(12 4 INN+2 &K 150 10.0 4.0
10 5 44DO-1 vQ 200 90 50(11 6 INO-1 8 50 70 7.0 5 7 INN+1 oK 120 70 7.0
11 3 44DO-1 ¥Q 200 90 50(13 3 24 0-1 +8 50 70 70|16 2 INN+1 oK 120 70 7.0
9 12 5v N-1  #Q -100 40 100(16 2 24 O-1 38 50 70 70(11 6 24 O-1 ¢2 100 4.0 10.0
4 6 340-= vQ -140 20 12012 4 3vS-1 49 -100 2.0 120| 8 15 34 S-2 %3 -100 2.0 120
14 8 34 0O+1 ¢vQ -170 0.0 140| 9 14 24 O= +8 -110 0.0 140(13 3 24 S-3 a5 -150 0.0 14.0
7 & EK109842 Basta kontrakt 8 & E952 Basta kontrakt 9 47653 Basta kontrakt
Syd v Kn95 3v O =-140 Vast v 1062 3NT N =400 Nord v K74 3NT O =-600
Alla +9 Ingen + KD2 ov + E62
92 & ¢ v & NT »K73 & ¢ v & NT #1032 & ¢ v & NT
45 4 DKn76 N544765 aKD6 4743 N9 7889 «ED8 &« KKn9 N4 4454
v EK62 vD104 S54475 vEK7 9543 S97889 vE963 v D82 S 44454
¢ 832 ¢+ KD1064 089 96 8 486543 ¢ Knl07 046544 ¢ DKn103 ¢ 97 09 9989
#EKN1065 &4 V89868 »86 #E954 V4654414 *84 #EDKn96 V9992809
43 4 Kn108 41042
v 873 v DKn98 v Kn105
¢ EKn75 ¢+ E9 + K854
#KD873 #DKn102 *K75
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 16 24DN= &4 670 140 00| 3 16 3NS= +6 400 13.0 10(14 11 3NO= v] -600 130 1.0
11 2 34 N-1 #4 -100 120 2.0|11 2 3NN= ¢J 400 13.0 1015 10 3NO= v5 -600 13.0 1.0
1 5 2NO+1 3 -150 10.0 4.0|12 7 2v S+2 48 170 100 40| 1 8 3NV+1l &7 -630 50 9.0
10 14 34 N-2 v4 -200 70 7.0(10 14 14 N+2 ¢J 140 70 70| 2 6 3NO+1 5 -630 50 90
12 7 34 N-2 K -200 70 7015 9 3vS= +3 140 70 70| 7 9 3NO+1 ¢4 -630 50 9.0
6 8 34DN-2 #4 -500 40 100 6 8 2vS= &K 110 40 10.0[(12 3 3NO+1 vJ -630 50 9.0
15 9 3NO= 43 -600 20 120 1 5 1aN= +J 80 20 120(13 5 3NV+1l 3 -630 50 90

Skanninge BK, Allhelgonabridge 4 Rod 2022-11-06, sida 1 av 3




13 4 44DN-4 #4 -1100 0.0 140(13 4 2¢ V-1 v2 50 00 140(16 4 3NO+1 T -630 50 9.0
10 « EKn4 Basta kontrakt 11 « K9 Basta kontrakt 12 « D103 Basta kontrakt
Ost v D98 3NT S =600 Syd vE32 INTS =90 Vast v D43 5& V =-400
Alla + Knl102 Ingen +D74 NS + KDKn8
#EKn92 & ¢ v & NT #ED1054 & ¢ v o NT *E97 & ¢ v o NT
«D982 4653 N8 86 709 «E10763 4542 N7 6757 4 K9 4 8542 N28575
vK2 vE107653 S 8 8 6 7 9 vD5 v KKn76 S76 757 vE9652 vK S28575
¢E4 ¢ 763 054754 ¢ Kn9853 ¢ E6 06 76 76 +5 ¢ E763 O 114 8 5 8
#KD653 #4 V54754 *Kn #K973 V678676 #KKn632 #D1054 V 114 8 5 8
« K107 « DKn8 « EKn76
vKn4 v 10984 vKn1087
¢ KD985 ¢ K102 +10942
#1087 *862 *8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 11 3v O0-2 K 200 140 00| 3 7 INN+1 43 120 130 10|11 15 2¢ S= +K 90 14.0 0.0
7 9 2NN+1 46 150 120 20| 5 16 INN+1 v6 120 130 10| 2 9 3¢ N-1 ¢K -100 120 2.0
16 4 INN+1 3 120 100 4.0(14 12 34 V-2 vA 100 100 40| 3 7 INO+1 46 -120 10.0 4.0
1 8 2v0-1 +¢K 100 6.0 80| 8 10 INN= 45 90 6.0 80| 1 4 24V+2 +K -130 6.0 8.0
12 3 3v0-1 K 100 6.0 80|11 15 INN= &7 90 6.0 80| 5 16 4aV= +K -130 6.0 8.0
13 5 2v0-1 K 100 6.0 80(13 6 INN= 3 90 6.0 80(13 6 2#V+2 ¢K -130 6.0 8.0
2 6 2v0O+1 a7 -140 20 120 2 9 3aV-1 vA 50 20 12014 12 3+ V+2 K -150 20 120
15 10 3¢ S-2 &K -200 0.0 140 1 4 24 V= vA -110 0.0 140| 8 10 3vy S-3 ¢5 -300 0.0 14.0
13 4 E9 Bésta kontrakt 14 D863 Bésta kontrakt 15 4« D97653 Bésta kontrakt
Nord vK 6 N =1370 Ost v5 24 S =110 Syd v75 4¢ V =-130
Alla + EKD10983 Ingen ¢ 9754 NS + 108
#D32 & ¢ v & NT #EKDKn & ¢ v & NT *KD2 & ¢ v o NT
4KD1032 4Kn8 N 12106 8 10 «EKn4  4K107 N7 8787 «aKKn8 4104 N8 2486
vKn96542 v 103 S 12106 8 10 vD632 vKn87 S78787 vEK vKnl0843 S 8 2 4 8 6
*7 ¢ Kn6542 012752 ¢ Knl06 ¢ EK3 06 5656 ¢ K6543 ¢ ED72 O5 108 5 7
*Kn *E754 V12752 #432 10987 V65656 #643 *75 vV 5 108 5 7
#7654 4952 «E2
vED87 v EK1094 v D962
.- ¢ D82 ¢ Kn9
#K10986 #65 #EKn1098
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 10 3BNN+2 &4 660 11.0 3.0 2 5 INN+2 +A 150 140 00|13 8 3v O-1 4A 50 14.0 0.0
4 8 3NN+2 4 660 11.0 30| 9 11 INS+1 ¢J 120 120 20| 3 6 34 N-1 +A -100 110 3.0
9 11 3NS+2 2 660 11.0 3.0 3 10 14 N+1 +A 110 90 50(15 1 3+S-1 vA -100 110 3.0
16 6 3NN+2 &5 660 11.0 30|13 7 2vS= +J 110 90 50| 7 16 3¢ V= v7 -110 8.0 6.0
1 14 3NS+1 #4 630 50 90| 1 14 INS= *J 90 6.0 80| 4 11 3¢ V+1 &K -130 4.0 10.0
12 15 3NN+1 4] 630 50 90| 4 8 2NN-1 +A -50 20 120 5 9 3¢ V+1 &K -130 4.0 10.0
2 5 3¢ N= s] 110 2.0 12012 15 3NS-1 *2 -50 2.0 12.0(10 12 4e V= +Q -130 4.0 10.0
13 7 6NN-1 T -100 00 140|16 6 2NN-1 +A -50 20 120 2 14 29 O+1 &A -140 0.0 14.0
16 49765 Basta kontrakt 17 4 D105 Basta kontrakt 18 4102 Basta kontrakt
Vast v 65 64 N D -6-1400 |Nord vE1072 44 ND-1-100 Ost v EKn2 3v O =-140
ov ¢ 1053 Ingen +43 NS ¢ 65
*Kn874 & ¢ v & NT *K972 & ¢ v & NT #KKn6543 & ¢ v & NT
» EK2 104 N51161 3 s E7 N4 4397 « EK63 #Kn98 N8 4 4 4 4
vEDKn932 vK1074 S51161 v KDKn954 v 863 S44397 v943  vKD865 S 84344
+ EK84 ¢ Kn97 08 12127 11 + Kn985 + EK6 09 9 104 6 ¢+ Kn84 ¢ E1072 058986
*- #E1032 vV 8 12127 11 #Kn8 #E10643 vV 8 8 104 6 21072 #E V58986
4 DKn83 4 KKn98642 4 D754
v8 v- v 107
+ D62 + D1072 + KD93
#KD965 #D5 «D98
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 6 4vV+2 &4 -680 120 20| 6 10 4v V-3 4Q 150 140 0011 1 3#N= v6 110 14.0 0.0
13 8 4v V+2 &4 -680 120 20|14 3 5vV-2 &5 100 11.0 30|16 8 24 V= 3 -110 120 2.0
15 1 4vV+2 v6 -680 120 20|16 8 5vDV-1 4Q 100 110 30| 4 7 24V+1l T -140 6.0 8.0
4 11 6y V= v6 -1430 70 70(13 9 4v V-1 4Q 50 80 6.0 6 10 2¢»v O+1 ¢K -140 6.0 8.0
7 16 6y V= v6 -1430 70 70| 4 7 44DS-1 ¢K -100 40 10.0{13 9 2v O+1 #4 -140 6.0 8.0
2 14 6v O+1 «K -1460 30 110|11 1 44DS-1 &J -100 40 100(14 3 2¢O+l K -140 6.0 8.0
10 12 6y V+1 T -1460 3.0 11.0(15 2 44DS-1 &J -100 40 10.0(15 2 2vO+1 +¢K -140 6.0 8.0
5 9 7vVs= *7 -2210 0.0 140 5 12 4v V= 45 -420 0.0 140 5 12 2¢ O+3 ¢K -200 0.0 14.0
19 » EKD7652 Basta kontrakt 20 4 Kn9 Basta kontrakt 21 452 Basta kontrakt
Syd v- 74 S =1510 Vast v KD32 34 V =-140 Nord v EKKn8743 54 O D-3500
oV ¢+ ED964 Alla + K1074 NS ¢ED
&5 & ¢ v o NT #Kn102 % ¢ v & NT *K5 & ¢ v o NT
a4 10 N8 9 9 1312 21083 #EKD7654 N 8 9 9 4 4 « EDKn984 410763 N 1011105 7
v K642 v Kn973 S 8 9 9 1312 vKn64 v95 S89 944 v- vD1062 S 1011105 7
¢ K108752 ¢ Kn3 044301 +Kn63 ¢95 053395 + 1094 ¢ Kn87 022284
*Kn4 «D108732 V 54301 #EKG5 #74 V53395 +D863 £102 V22284
# Kn983 a2 oK
v ED1085 vE1087 v 95
¢- + ED82 + K6532
*EK96 #D983 #EKn974
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
3 15 74 N= «T 1510 120 20|12 2 4vyN= 5 620 140 00| 4 15 4vN= 46 620 10.0 4.0
9 16 74 N= 8 1510 120 20|14 4 44 0O-1 YA 100 120 20| 5 14 4y N= 3 620 10.0 4.0
14 4 74 N= #2 1510 120 20| 3 15 34 0= 3 -140 60 80| 7 2 4v N= oT 620 10.0 4.0
6 1 64 N+1 7 1010 50 90| 5 8 24 0O+1 8 -140 6.0 8013 11 4v N= T 620 10.0 4.0
7 11 64 N+1 ¢J 1010 50 90| 6 1 24 0O0+1 3 -140 6.0 80(16 10 4v N= a7 620 10.0 4.0
12 2 64 N+1 #2 1010 50 90| 7 11 24 O+1 &3 -140 6.0 80| 8 12 44 V-1 vA 50 4.0 10.0
13 10 64 N+1 ¢J 1010 50 90|13 10 34 O= 3 -140 6.0 80| 1 3 5¢N-1 43 -100 1.0 13.0
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5 8 44 N+3 ¢ 510 00 140| 9 16 44 O= YA -620 00 140 6 9 5v N-1 46 -100 1.0 13.0
22 a5 Basta kontrakt 23 D5 Basta kontrakt 24 « DKn108 Basta kontrakt
Ost v Kn52 34 O =-140 Syd vD109732 34 V =-140 Vast v Kn982 54 ND-1-100
oV + EK83 Alla ¢72 Ingen ¢ EDKn

#Kn9732 & ¢ v & NT #K98 & ¢ v & NT *62 & ¢ v & NT
4Knl1098 4KD7643 N8 7 844 4Kn742 «E108 N3 37 33 a7 » K6 N 16 3 103
vE107 vD6 S87 844 v K5 vE6 $33733 vD3 v EK1075 S 16 3 103
¢ D42 ¢ Kn106 056598 ¢ K54 ¢ DKn863 09 106 9 8 ¢ K10965 ¢4 O 117 103 4
«D84 #E5 V565898 #E743 #D102 V 9 106 9 8 #KD1083 #EKn975 V 117 103 4

aE2 4 K963 & £95432

v K9843 v Kn84 v 64

¢ 975 +E109 + 8732

#K106 #Kn65 *4

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

5 14 44 O-1 ¢5 100 120 20| 8 3 4a4V-2 o7 200 130 1013 12 64V-1 4Q 50 14.0 00

8 12 44 O-1 &A 100 120 20|15 5 3a4V-2 v9 200 130 10| 2 4 3+«V+2 4Q -150 9.0 50
16 10 44 O-1 v9 100 120 20| 9 1 2vS-1 a2 -100 100 4.0| 6 14 44 0+1 &A -150 9.0 50

1 3 340+1 v4 -170 50 90| 2 4 laV+l v2 -110 80 60| 7 10 44V+1l «Q -150 9.0 50

6 9 24 0+2 3 -170 50 90|11 16 2NO= v4 -120 60 80|11 16 4V+1l «Q -150 9.0 50

7 2 340+1 v4 -170 50 90| 7 10 24 V+1 vT -140 40 100| 9 1 3#0+3 v6 -170 4.0 10.0
13 11 24 O+2 v4 -170 50 90| 6 14 INO+3 &3 -180 10 13.0|15 5 5#0+= v6 -400 2.0 120

4 15 44 O= v3 -620 00 14013 12 2NO+2 3 -180 10 130| 8 3 6sV= +Q -920 0.0 14.0
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